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IL.1. Consider a two-period economy with no initial assets. The representative consumer has a lifetime
utility function given by: U = C,C,. In period 1, there is a pre-determined amount of output: O, =40.
As for the second period, there is no exogenous output, but there are investment opportunities, as
described by O, =10K"*, where K depreciates fully after one period. Further assume that this
economy is able to borrow and lend in the international markets at the interest rate r*=25%.
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(a3) life-time wealth;
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(a4) consumption in period 1 and 2;
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(a5) represent graphically, identifying the contribution of investment to life-time wealth.
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b) Based on your results in a), find out:
(bl) GNE in period 1:
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(b2) GNI in period 2:
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(b4) domestic savings in period 2:
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C) Assume instead that this economy was closed to capital flows. Without calculations, explain
how would the resulting equilibrium compare to (a), in terms of: (c1) interest rate; (c2)

investment. (¢3) Conclude on the benefits of trade openness in this exercise
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I1.B. Consider an economy with flexible prices where the purchasing power parity and the Fisher
principle hold instantaneously. Assume that P* = 2, the real interest rate is 5% and the money demand

is given by mP? = -E. Full employment output is given by Yy = 72. Initially, the money supply is
constant at M* = eB. + B = 600 + 120 and the exchange rate is fixed at e=1.

a) Describe in a graph the money market equilibrium, and quantify: the real money demand, the
price level and the velocity of money.
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b) Departing from a), assume that the central bank unexpectedly announces a once-and-for all
devaluation to E=3. Describe the adjustment, quantifying money demand, price level and the
interest rate.
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c) Departing from a), assume that the central bank starts to increase domestic credit by 20% per
year. Assuming that the domestic credit expansion is to be fully sterilized and that agents have
perfect foresight, find out: c1) the timing of the speculative attack and c2) the reserves that are
lost at the time of the attack. ¢3) Draw the time path of the price level, exchange rate and the
interest rate.
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